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1.   She has not learnt a lesson.  
(a)  a lesson is not learnt by her. 
(b)  a lesson has not been learnt by her. 
(c)  a lesson has not learnt by her. 
(d)  a lesson have not least by her  

Ans.[B] 
2.   He is going to do his work. 
(a)  his work is being done by him. 
(b)  His work is going to done by him. 
(c)  his work is going to be done by him. 
(d)  his work was going to be done by him. 

Ans.[C] 
 3.    Mohan will have written an essay.  
(a)  an essay will have been written by Mohan.  
(b)  an essay will be written by Mohan. 
(c)  an essay will have written by Mohan. 
(d)  an essay will written by Mohan. 

 Ans.[A] 
 
4.  Have you sing a song. 
(a)  Have a song been sung by you?  
(b)  Has a song sung by you? 
(C)  Has been a song sung by you?  
(d)  Has a song been sung by you?  

Ans.[D] 
 
5.   Let them play cricket.?  
(a)  Let cricket be played by them.  
(b)  Let cricket be play by them.  
(c)  Let cricket played by them.  
(d)  cricket will be played by them.  

Ans.[A] 
6.   Don't beat the servant.  
(a)  Let the servant don't be beaten.  
(b)  The servant does not be beaten.  
(C)  Let the servant beaten not be.  
(d)  Let the servant not be beaten.  

Ans.[D] 
 
7.   A letter has not been written by me.  
(a)  I have not written a letter.  
(b)  I have not wrote a letter.  
(c)  I has not written a letter.  
(d)  I have written a letter.  

Ans.[A] 
8.   A good poem was composed by the 

poet.  
(a)  The poet was composing a good 

poem.  
(b)  The poet composed a good poem.  
(c)  The poet is composed a good poem. 

(d)  The poet was being composed a good 
poem.  

Ans.[B] 
9.  Has your work been finished by you? 
(a)  You have finish your work. 
(b)  Have you finish your work? 
(c)  Has you finished your work? 
(d)   Have you finished your work?  

Ans.[D] 
 
10.  Let a sweet song be sing.  
(a)  let a sweet song sing.  
(b)  Sung a sweet song.  
(c)  Sang a sweet song. 
(d)  sing a sweet song.  

Ans.[D] 
11.  The Judge gave him two weeks to pay the 

fine.  
(a)  To pay the fine him two weeks given by 

the Judge 
(b)  He was given two weeks to pay the fine by 

the Judge  
(c)  Two weeks were given the Judge by him to 

pay the fine  
(d)  Judge given two weeks to him to pay 

the fine.  
Ans.[B] 

 
12.  I showed her the easiest way.  

(a) The easiest way was shown to her by me  
(b)  she showed the easiest way by me  
(c)  She was showed the easiest way by me  
(d)  I shown easiest way by her  

Ans.[C] 
13.  She expects immediate help.  
(a)  Help is immediately by her expected  
(b)  Immediate help is expected by her  
(c)  She was expected help immediately  
(d)  She expected immediately  

Ans.[B] 
14.  Students will wear summer dress.  

(a) Dress will be worn in summer by 
students.  

(b)  Summer dress is worn by students  
(c)  Summer dress will be worn by 

students  
(d)  Students were will be worn summer 

dress 
Ans.[B] 

 15.  The idea has interested me.  
(a)  I have been interested by the idea  
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(b)  Idea has been by me interested  
(c)  The idea has been interested by me  
(d)  Interest has given me idea 

Ans.[A] 
16.  Most people oppose this idea.  
(a)  This idea is been opposed by most people  
(b)     This idea had been opposed by most people  
(c)  This idea is being opposed by most 

people  
(d)  This idea is opposed by most people 

Ans.[D] 
 
17.  Children are damaging the garden.  

(a)  This garden is damaged by the children  
(b)  The garden has been damaging by the 

children  
(c)  The garden has been damaged by the 

children  
(d)  The garden is being damaged by the 

children 
Ans.[D] 

18.  What did he write?  
(a)  What was written by him?.  
(b)  What had been written by him.  
(c)  What was been written by him  
(d)  What is being written by him 

Ans.[A] 
 19.  The milkman brings the milk to my door.  

(a)  Milk is brought to my door by the 
milkman  

(b)  Milk is bringing to my door by the 
milkman  

(c)  Milk is brought by my door to the 
milkman  

(d)  Milk is being brought to my door by 
the milkman.  

Ans.[A] 
20.  Dogs guard the ware house  
(a)  The warehouse guarded by the dogs  
(b)  The warehouse is being guarded by the 

dogs  
(c)  The warehouse is guarded by the dogs  
(d)  The warehouse guards by the dogs.  

Ans.[C] 
21.  This hotel serves meal till 10.30 PM.  
(a)  Meal served till 10.30 PM by this hotel  
(b) Meal has been served till 10.30 PM by this 

hotel  
(c)  Meal is served till 10.30 PM by this hotel  
(d)  Meal is been served till 10 PM by this 

hotel.  

Ans.[C] 
22.  The watchman called the police  
(a)  The Police is called by the watchman  
(b)  The Police had been called by the 

watchman  
(c)  The Police called by the watchman  
(d)  the Police was called by the watchman.  

Ans.[D] 
23.  The postman has left the letter in the mail 

box.  
(a)  The letter is left in the mail box by the 

postman  
(b)  The letter has been left in the mail box by the 

postman  
(c)  In the mail box has been left the letter by the 

post man  
(d)  The letter has been lefting in the mail box by 

the post man.  
Ans.[B] 

24.  Someone will have opened gates of the 
hall.  

(a)  Gates of the hall will been opened by 
someone  

(b)  Gates of the hall will have been opening  
(c)  Gates of the hall will be opened  
(d)  Gates of the hall will have been opened. 

Ans.D[] 
25.  The lawyer had given him the  
(a)  The details of 'Will' being given him by the 

lawyer  
(b)  He had been given the details of 'Will' by 

the lawyer  
(c)  He has been giving the details of 'Will' by 

the lawyer  
(d)  He had been given the lawyer details of 

"Will". 
Ans.[B] 

 26.  Boys of above 18 years will man this ship.  
(a)  This ship will have been mannual by boys of 

above 18 years  
(b)  This ship be manning by the boys of above 

18 years  
(c)  This ship will be manned by boys of above 

18 years  
(d)  By boys of above 18 years will this ship be 

manned. 
Ans.[C] 

 27.  This laundary may wash woolen cloths  
(a)  Woolen cloths might be washed by this 

laundry  
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(b)  Woolen cloths may be washing this 
laundry  

(c)  Woolen cloths may be washed by this 
laundry  

(d)  Woolen cloths might have been washed 
by this laundry.  

Ans.[C] 
28.  A high salary will be offered to a really 

suitable applicant.  
(a)  We shall offer a high salary to a really 

suitable applicant.  
(b)  A really suitable applicant will be offered a 

high salary.  
(c)  We shall have offered high salary to a really 

suitable applicant.  
(d)  We may offer high salary to a really suitable 

applicant. 
Ans.[A] 

29.  A letter has not been written by me.  
(a)  I have not written a letter.  
(b)  I have not wrote a letter  
(c)  I has not written a letter. 
(d)  I have written a letter 

Ans.[A] 
30.  A good poem was composed by the 

poet. 
(a)  The poet was composing a good poem  
(b)  The poet composed a good poem.  
(c)  The port is composed a good poem.  
(d)  The poet was being composed a good 

poem. 
Ans.[B] 

31.   The passive sentence for "The Prime 
Minister wa to have made a speech to the 
Nation." will be:  

(a)  A speech to the Nation is to made by the 
Prime Minister.  

(b)  A speech to the Nation was to have been 
made by the Prime Minister.  

(c)  A speech to the Nation will have made by 
the Prime Minister.  

(d)  A speech to the Nation shall have been 
made by the Prime Minister.  

Ans.[A] 
32.   The active sentence for "A high salary will 

be offered to a really suitable applicant'.' 
will be:  

(a)  We shall offer a high salary to a really suitable 
applicant.  

(b)  A really suitable applicant will  offer a 
high salary.  

(c)  We shall have offered high salary to a really 
suitable applicant.  

(d)  We may offer high salary to a really suitable 
applicant.  

Ans.[A] 
33.   The active of "Let the child be brought in" 

will be:  
(a)  The child should be brought in  
(b)  Bring in the child  
(c)  Let us bring the child.  
(d)  Let us brought the child in  

Ans.[B] 
34   The passive of "We have not heard of this 

decision." is  
(a)  This decision has not been heard of (by 

us).  
(b)  This decision is not known to us.  
(c)  We are unaware of this decision.  
(d)  This decision is not heard of (by us).  

Ans.[A] 
35.  You will be met at the station.  
(a)  Someone will meet you at the station.  
(b)  Station where someone meets you.  
(c)  You will be meeted at the station.  
(d)  Someone meets you at the station. 

Ans.[A] 
 36.  We must give him an explanation.  
(a)  He must given an explanation by us.  
(b)  He must be given an explanations by us.  
(c)  He must have given an explanation to us.  
(d)  An explanation must be given to him by 

us.  
Ans.[B] 

37.  The organizers did not expect him to win.  
(a)  He was not expected to win by the 

organizers.  
(b)  It was not expected of him to win.  
(c)  He did not expect to win by the 

organizers.  
(d)  It was not expected that he would win.  

Ans.[A] 
38.  How do some people learn languages so 

quickly?  
(a)  How are languages learnt so quickly by 

some people?  
(b)  How did some people learnt languages 

quickly?  
(c)  How are some people being learning 

languages so quickly?  
(d)  How quickly are languages learn by some 

people?  
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Ans.[D] 
39.  The letter might have been sent to the 

wrong address.  
(a)  The letter wrongly addressed.  
(b)  The letter has gone to the wrong address.  
(c)  Someone might have sent the letter to the 

wrong address.  
(d)  Someone might send the letter addressed 

wrongly.  
Ans.[C] 

40.  I wasn't given the information I needed.  
(a)  The information I needed didn't give me 
(b)  I needed information not given.  
(c)  They wasn't given me the information I 

needed.  
(d)  The information needed I wasn't given. 

Ans.[A] 
 41.  The doctor has advised me to take 

complete rest.  
(a)  I have been advised to take complete rest by 

the doctor.  
(b)  Complete rest has been advised to take 

by me.  
(c)  To take complete rest is the advise to me 

by doctor.  
(d)  Advise has been given to rested. by the 

doctor.  
Ans.[A] 

42.  Even the most difficult of tasks can be 
solved by hard work and patience.  

(a)  Hard work and patience can solve even 
the most difficult of tasks.  

(b)  Tasks of great difficulty can solve even 
hard word and patience.  

(c)  Hard work and patience could have solve 
tasks of great difficulty.  

(d)  Hard work and patience are being solved 
with tasks of great difficulty.  

Ans.[A] 
43.  Our hosts treated us very politely.  
(a)  Very politely were we hosted by our 

treats.  
(b)  We were treated very politely by our 

hosts.  
(c)  We had been treated very politely by our 

hosts.  
(d)  We were being treating very politely by 

our hosts. 
Ans.[B] 

44.  This shop sells books  
(a)  Books are sold in this shop  

(b)  Shop is selling books  
(c)  Books are on sale  
(d)  None of the above 

Ans.A[] 
                     
45.  Mother has cooked the dinner.  
(a)  Did mother not cook the dinner?  
(b)  The dinner has been cooking by mother.  
(c)  The dinner has been cooked by mother.  
(d)  Mother has not cooked the dinner.  

Ans.[C] 
46.  Someone gave her a bulldog.  
(a)  She was given a bulldog  
(b)  A bulldog was given to her by someone.  
(c)  she has been given a bulldog.  
(d)  She is being given a bulldog by someone. 

Ans.[A] 
47.  Mona was writing a letter to her father. 
(a)  A letter was written to her father by 

Mona.  
(b)  A letter has been written to her father by 

Mona.  
(c)  A letter was being written by Mona to her 

father.  
(d)  A letter was written by Mona to her 

father.  
Ans.[C] 

 48.  The child broke the mirror. 
(a)  The mirror is broken by the child. 
(b)  The mirror was broken by the child. 
(c)  The mirror was broken. 
(d)  The mirror has been broken. 

Ans.[B] 
49.  Send these letters by registered post. 
(a)  The letters are sent by registered post. 
(b)  The letters were sent by registered post. 
(c)  Let these letters be sent by registered 

post. 
(d)  Let these letters sent by registered post. 

Ans.[C] 
50.  Choose the correct passive voice of the 

following sentence. 'We must not look 
down on the poor.'  

(a)  The poor must not looked down by us.  
(b)  The poor must not be looked on by us.  
(c)  The poor must not looked down on by us.  
(d)  The poor must not be looked down on by 

us.  
Ans.[D] 
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